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¥ . B " " - L] l:
you must write the subject code/paper code 06/B in the hox pr:wulul on th

(1)

title page of your answer book.

: . . * ) ( C
i) Make surc that answer book contains 24 pages (including title page) and ar

properly serialled as soon as you receive It

(i) Question/s attempted afier leaving blank page/s In the answer bookK would not

be evaluated.

y L " ® L] . hu
(iv) No extra sheet will be given. Write suitable answer and do not strike |

written ansSwer.

T b
(v) All questions are compulsory. m

6 Parts (A, B, C, D, E, F).

vi) The question paper is divided nto

(vii) Part-A Question No.1 has 12 (i-xii) sub-parts. Each question 18 of 1 mark.

(viii) Part-B Question No.2 has 12 (i-xii) sub-parts. Each question 1S of 1 mark.

(ix) Part-C Question No. 3 has 8 (i-viii) sub-parts. Each question is t0 be answered

in 30-50 words. Each question 1s of 3 marks.

(x) Part-D Question No. 4 has 4 (i-iv) sub-parts (100% internal choice). Each

question is to be answered in 80-100 words. Each question is of 5 marks.
(xi) Part-E Question No. 3 ‘s source based. This question is of 4 marks.

(xii) Part-F Question No. 6 is related to Map. It has two sub-parts. 4 out of 6
places are to be filled in Map of India from Geography Part and in Map of
Punjab before 1947 from History Part. Each place is of 1 mark.

06/B-X
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PART - A

Multiple Choice Questions :

. Select the correct option. All

(1)

(i)

06/B-X

quesliunsaremmpulsury 12%1=12
. x 1=

What was the growth rate (percentage) of Primary sector in the ycar 208-19 2

@) 2 (b) 4

5 9 (d)
How many duties does a consumer have 2

(a) Six (b) Eight
(c) Ten (d) Twelve

What was the colour of dress that Guru Nanak Dev Ji wore during the

Udaasi ?

fourth

(a) Yellow - (b) Green
(c) Blue (d) Orange

When did Guru Angad Dev Ji get the Guru Gaddi ?
(a) 1469 AD (b) 1539 AD
(c). 1546 AD (d) 1552 AD
Where did (Guru) Gobind Rai Ji's Dastarbandi (Turban Ceremony) take place ?
(a) Patna (b) Lakhnaur
(¢) Chakk Nanaki (d) Gurdas Nangal
Who ordered firing in Jallianwala Bagh ?
(a) Michael O' Dyer
(b) General Dyer
(¢) Bhagat Singh
(d) Udham Singh
16
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(-;ii) what I8 the tenure of the members of the Election Commission of India

(a) 4 years (b) S ycars

(c) 6 years (d) 7 years

(viii) Who among the following is selected through indirect election system 7

(a) President
(b) Vice President
(c) Both of the above

(d) None of the above

(ix) In which state Lonar lake is located ?

(a) Punjab (b) Madhya pradesh

(d) Maharashtra

(c) Uttar Pradesh
(x) Whatis the full form of CWMI ?

(a) Composite Water Management Index

(b) Chhattisgarh West-Bengal Maharashtra Interrelation

(¢) Composed Water Marketing Index

(d) None of the above

(xi) Who gave the definition of material welfare 1n economics ?

(a) Alfred Marshall (b) Adam Smith

c) A.C Pigou (d) Samuelson

(xii) Which of the following is not a formal source of credit ?

(a) Nationalized Banks
(b) Cooperative Societies
(¢) Private Banks

(d) Moneylenders (Mahajans)

06/B-X
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2. (a)

PART - B
Objective Type Questions : 12-,1=12
Fill in the blanks :
(1) Based on the working conditions the cconomy isol ............... type.

(b)

(¢)

3. Answer each question in 30-50 words :

(1)
(11)
(iii)
(iv)
(V)
(Vi)
(vii)

(1) Guru Nanak Dev met Sajjan

(.lll) Thereare .......... members of Rajya Sabha in India.
(1v) Gandikota Canyon is located in

Write True/False :

Thug ataplace called ............... .

(v) Hallmark is a certificate of standardization of jewellery

(vi) The foundation of Amritsar Sahib was laid by Gury Arjan Dev Ji

(vi1) To become the President of India, one must be above 40 years of age.

(viii) Out of 16 sugar mills in the cooperative sector in Punjab, 7 sugar mills

have been closed.
[ | ‘# "h

Answer eaeh question in one word or one sentence :

(1x) What are the informal sources of credit ?

(x) What was the contribution of Sardar Ahmad Khan Kharal in the freedom

struggle ? https://www.punjabboardonline.com
(x1) What do you understand by public opinion ?

(x11) What is meant by multipurpose river project ?

PART -C

What is meant by insurance ?

How has the Himalayas influenced the history of Punjab ?
Write about the dress of Muslims.

Write about the battle of Chappar Chiri (Sirhind).

Explain the role of India in world peace.

Write a note on the economic importance of soil.

Which state of India is known as 'Garden of spices' and why ?

(viii) What is meant by public debt ?

06/B-X

18

8x3=24

el

(3 scanned with OKEN Scanner



PART-D
answer each question in 80-100 words :
4.
(i) Describe the conquest of Multan by Maharaja Ranjit Singh.

OR

Write the causes of the second war between the British and the Sikhs.

(ii) Explain the Right to equality.
OR

Describe the discretionary powers of the Governor of a State.

-

(iii) Compare conventional and non-convﬁnlimal energy sources.

OR

: ?
What steps are being taken for the improvement of the roads *

(iv) Write a note on the need for sustainable development.
OR

How did liberalisation of foreign trade and foreign investment policy help in

the process of globalization ?
PART - E

5. Source based question : \ 4x1=4

’

The word consumption is used in two senses. In one sense it is used as a process
and the other as expenditure. Consumption is the process through which the needs
of a human being are directly satisfied, such as using water to quench thirst and
using bread to satisfy hunger, etc. Therefore, consumption is the action by which a
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— ™

person uses g commodity for the satisfaction of his needs. Consumption ae an
expenditure refers 1o the total expenditure on consumption goods. The money thy,
People spend to buy goods and services for the direct satisfaction of their needs o
called consumption or total consumption expenditure. Consumption refers 1 the
consumption expenditure during a ycar in an economy. The ratio Of lotg
expenditure and total income is called average propensity o consumption, |y Shows
how much of their total income pcople will spend on consumption and hg,, Much
they will save. It is obtained by dividing consumption by income. The ratiq of chy

nge

in consumption to change in income is called marginal propensity (o CONSUmpy;
: i

With the increase in income, people's expenditure also increases but not 35 Much 4

the increase in income, that is, the increase in consumption is less than the increase

in income. T

Read the above paragraph and answer the following questions :

1. Suppose the total income of an economy is Rs, 2,000 crore and the savings are

Rs. 500 crore, Tell what is the total consumption expenditure ?
2. Write the types of propensity to consumption.
3. Write the formula to find the marginal propensity to'cnnsumption.

4. What is consumption ?

PART -F

6. Map: 4+4=8
()  Fill in any four places in the given map of Punjab.

Sri Amritsar Sahib, Chamkaur Sahib, Nadaun, Mukhlispur, Mudki, Chillianwala.
(i1) Fill in any four places in the given map of India.

Area of NDRF Battalion (ITBP), Any one area of forest land, Sundarban,
Tehri Dam, Chilika Lake, Bhilai Iron and Steel Plant.
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